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Section A: Multiple Choice Questions (20 marks)

Questions 1 to 10 carry 2 marks each.
Choose the correct answer and write its number in the brackets provided.

1.

In 8936, which digit is in the tens place?

(1)6
(2)8
(3)3
(4)8

There are 2378 children in the school hall. 1255 of the children are
girls. How many boys are there in the school hall?

(1) 3633
(2) 3523
(3) 1183
(4) 1123
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What is the missing number in the box7

X 9 =63

(1 3
(2) 6
) 7
4) 9

Find the sum of 3383 and 1098.
Which one of the following shows the correct answer?

(1)

3 3 8 3
+ 1 0 9 8
2 3 1 5

(2)

3 9 1
©)
3 %8 3
+ 1.0 9
3 8 1
(4)

3 8 3




I am a 3-digit odd number. | am more than 220. There is a digit 2 in

my number. The sum of all my digits is 8. Who am 1?
Which one of the following is the correct answer?

(1) 512
(2) 332
(3)323
(4) 215

How many even numbers are there between 1643 and 16497

(1)6
(2)2
(3)3
(4)4

Which of the following shows 6 groups of 7?7

(1)6+6+6+6+6+6
(2) 7+7+7+7+7+7
(3) 7x7Tx7x7TXTx7
(4) 6x6x6x6x6x6x6

Mark, Tom and John shared 36 marbles equally.

After Mark has taken his share of marbles, he then gave away 6
marbles.

How many marbles had Mark left?

(15
() 7
(3) 12
(4) 31



10.

There were 873 adults and 654 children at the stadium. Each
person will receive a goodie bag. 1400 goodie bags were prepared
for them. How many people did not receive the goodie bags?

(1) 2927
(2) 1527
(3) 227
(4) 127

In a quiz, a pupil is awarded 2 sweets for every 6 correct answers.
How many sweets will he receive for 24 correct answers?

(1) 4
(2) 8

(3) 20
(4) 32



Section B: Open-Ended Questions (18 marks) -

Questions 11 to 19 carry 2 marks each.

Read the following questions carefully and write your answers in the boxes provided.
Show your working clearly.

11.  Write 8243 in words.

_12.  The total amount of money David has is shown in the box below.
He wants to buy a pair of sports shoes which costs $47.
How much more money does he need to buy the pair of sports

shoes?
$5 |




13.  Find the missing digits A and B.

6 | A 0
-3 1 9
B 3 1




14.  The picture graph below shows the favourite colours of students in
Class 3P.

Favourite colours of Students in Class 3P

* %
*

* *
* *

%% X%
* -t
* >t
* 2%t
2%

Green Blue Black Gold Yeliow

Each * represents 4 students.

a) How many more students like Gold than Yellow?

b) There were twice as many students who like Blue as




15.

16.

17.

The sum 6f two numbers is 4452,
The smaller number is 2088.
What is the greater number?

Complete the number pattern below.

11,12,14,17, 21, . 32,39, 47, 56, 66

4 apples in a box 3 oranges in a box

Apples were sold in boxes of 4 and oranges were sold in
boxes of 3. John bought the same number 6f'apples and
oranges. He bought 6 boxes of apples.

How many boxes of oranges did he buy?




18. A television set costs $2311. A computer costs $122 more than
the television set. What is the total cost of the two items?

19  What is the smallest 3-digit odd number that can be formed with
the cards below? Each digit can only be used once.

DS N



Section C: Problem Sums (12 marks)
Read the problem sums carefully before solving them. Show your number equations,
workings and final word statements clearly.

20. In alibrary, there were 627 storybcoks and 349 comic books. .

a) How many fewer comic books than storybooks were there? Working
(1m]

b) How many storybooks and comic books were there
altogether? [2m]




21. Rope Ais 270 m long. Rope B is 148 m longer than Rope A.
Rope C is 99 m shorter than Rope B.
What is the length of Rope C? [3m]

Working




22,

John, Clement and Susan iive in the same biock of flats. He
walked 11 floors down from his flat to Susan’s flat. Then, he
walked 5 floors up to Clement’s flat. Clement lives on the 23rd
floor.

On which floor does John live? [3m]

Working



23. 4 children, Abigail, Benny, Camay and Dennis queued up in a line.
Abigail was the last in the line. Benny was between Camay and
Dennis. Dennis was right in front of Abigail.

Who was the first in the line? v [3m]

Working
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11) eight thousand, two hundred and forty-three
12) $3
13) A: 5

B:3
14)a)16

b)Green

15) 2364
16)26
17) 8
18) $4744
19) 245
20) a)627 — 34 =278




b)627 + 349 = 976
21) 270 + 148 = 418
418 — 99 = 319m
22)11-5=6
23+6=29

23)Camay was first in the line



